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UGC NET PAPER 2 JULY 08, 2018 SHIFT 1 PHILOSOPHY QUESTION PAPER

Note : This paper contains hundred (100) objective type questions of two (2) marks each. All
questions are. compulsory.

1.  Vruiaccording to Nyaya is a relation between :
(1) Two Padas (2) Two Padirthas

(3)  Padz and Padartha (4) Padaand Vakya

2.  According to Nydya the objects of visual sense-organ are also the objects of tactual sense - organ

except :
(1) Rdapaonly (2) Rapatva only
(3) Both ripa and raparva (4) Both Rapaand sparsa

3.  Which type of hetvabhasa is commitied by the following anumana ? Select the correct code
given below !

marinmayah parvatall vahniman
(1) Asadhirapa savyvabhicara (2) Svaripasiddha hetvabhisa
(3)  Asryasiddha hetvabhasa (4) Viruddha

4. By what type of sannikarsa do we perceive patabhiava in ghata according to the Nyaya ?
(1) Samyoga (2) Samyukia Samavayd

(3) Samaviya (4) Visesanata

5.  Which type of kdrapa of the world Godis in Vaisesika philosophy ?

(1) Samavavikarana (2) Asamavayikirana
(3) Upadanakarana (4) Nimittakarana

6. Which among the following is not compatible to the vaiSesikas ?
(1) Pratyaksais praimdnpa (2) Anumdnais pramdina

(3) Sabdais pramina (4)  Sabdais svatantra (i ndependent) pramina
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Given below are one Assertion (A) and a Reason (R). Consider them and select the correct
code in the context of Carvaka philosophy.

(A) Pratvaksais the only pramapa

(R) Anumanais not a pramina

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3)  (A) is true and (R) is false.

(4) (A) is false and (R) is true.

The view that fSvara is a Kind of dtmd is upheld by :
(1) Carvaka only (2) Vaidesika only

(3) Nyaya only (4) Nyaya and Vaisesika

When the faksand of a word excludes Sakyartha completely then that /aksapa is called in Nyaya-
epistemology :

(1) Jahat laksana (2)  Vyaiijani
(3) Ayahadlaksapi (4) Jahadajahadiaksana

Given below an Assertion (A) and one Reason (R). Consider them and select the correct code
given below :

(A) The existence of paramdnu must be admitted.

(R) Dvyanukais savavava,

Code :

(1) (A) and (R} both are true and (R) is the correct ground for (A).

(2) (A) and (R) both are true and (R) is not the correct ground for (A).
(3)  (A) is true and (R) is false.

(4) (A) is false and (R) is true.
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Match Set - I and Set - II and select the correct code given below

Set - ] Set - II
(a)  Pratyaksam kalpanapodam namajatyddyasamyutam (1}  Dharmakirt
(b) Jnanakaranakam jnanarh pratyvaksamn (1) Dinnaga
(¢) Indiiyarthasannikarsotpannam ffidnam avyapadesyaiit () Gangesa

avydbhicari vyavasayatmikaim pratyaksan
(&)  Pratyvaksam kalpanapodam ablrdntam (iv) Gautama
Code :
(a) (b) (c) (d)
() & 4y @G @v)
(2) (@@ Gv) @) @
(3) @Gy (@) @Gv) @)
@ @) () Gv) @)

Akasa according to the vaidesikas is
(1) One only (2) Bibhuonly
(3) ANityaonly (4) One. bibhuand nitya

At liberated state 4und according to the Nyaya school is devoid of :
(1)  Duhkha only (2)  Sukha only
(3) Caitanryaonly (4)  Duhkha, Sukha and Cartanya

Atma, according to the Naiyayikas can be :
(1) &knower only (2)  known only
(3) knowledge only (4)  knowerand known

What type of k@rapa the colour of the threads is in respect of the colour of the cloth according to
the vaiSesikas 7

(1) Samaviyi (2) Asamavayi (3) Nimilta &) Upadana

Which type of Aetvabhisa is committed by the following anuméina 7. Select the correct code :

vahni, anusna, dravyatvit

(1)  Asriyasiddha (2) Badhita (3)  Viruddha (4)  Safpratipaksa
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Match List - 1 and List - II and choose the correct code :

List - I List - II
(ay  Parva - mimamsa ()  Saddsadvilaksapa
(b)y Advaita Vedanta ()  Aprthak siddhi
(¢) Dvaita Vedanta (in) Paradhina viSesapti
(d)  Visistadvaita Vedanta (1v) Jatisaktivada

Code :

(@) (b) (c) (d)
(1) (i) Gy G Gv)
(2) @(v) () () W
(3) @) @) (@ av)
@4 @) av) @ O

Which one of the following propositions is not compatible with Kumirila School of
Parva-mimamsa ?

(1) Advocacy of abhihitanvayavada

(2) Perceptual error consists in mutual superimposition of shell and silver

(3) Knowledge is constituted of triputi

(4) Perceptual error 1s an act of commission

Which one of the following is incompatible to Dvaita Vedanta ?

(1) The concepts of bheda and Visesa are basic and central to Dvaita Vedanta
(2) Jagatis an appearance

(3)  Brahmanis ananthakalyana-gupa paripima

(4) Jivais ontologically different from Brafunan

Write the correct sequence according to the Upanisads :
(1) nididhyasana, manana, Sravana (2) manana, Sravapa, nididhyasana

(3)  Sravapa, manana, nididfydsana (4)  Sravapa, mdidhyasana, manana

Mark the incompatible of the following with reference to Kumarila's epistemology :
(1) Svarah pramanya véida (2)  Viparitakhyati vada
(3) Paratal pramapya vada (4) Abhihitanvaya vada
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Anvitabhidhanavida is supported by the following pair of philosophers :
(1) Prabhakara and Mandana (2y Kumarila and Vacaspati

(3) Gotama and PraSastapada (4) Nagarjuna and Dinnaga

Among the following, what is acceptable to Samkara ?
(1)  Bralunan and Jiva are different from and identical with each other
(2)  Bralmanis nirgupa

(3) Proponent of Sanaka Sampradiva of Vaisnavism

(4) Moksais obtainable by jiina through I$wara prasada (God’s grace) generated by Bhakti

The Direct knowledge of the thoughts of other, according to Jain Philosophy is :
(1)  Avadhi (2)  Manahparyiaya (3) Mati (4) Kevala

What are the trinity principles espoused by Dr. Ambedkar ?

(1) Non-violence, Truth and Peace

(2) Non-Cooperation, Non-stealing and Non-equalization

(3) Revolution, Historical Materialism and Dialectical materialism

(4) Liberty, Equality and Fraternity

Which hetvabhasa is committed by the following anumana 7 Select the correct code :
Sabda anitya caksusatvat

(1) Svargpasiddha hetvabhasa (2) Badhita hetvabhasa

(3)  Viruddha hetvibhasa (4)  Savyabhicara hetvabhisa

Given below are the statements about a Karmayvogin. Select the correct code given below :
(a) A Karmayogiworks for attaining liberation

(b) A Karmayogiworks for heaven

(c) A Karmayogi works for the renunciation of all the karma

(d) A Karmayogi works for lokasamgral

Code :

(1) (a)and (b) (2) (b)and(c) (3) (a)and(d) (4) (b)and (d)
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238.

The basis of division of four types of varma according to the Gita is :

(1) Gupaonly (2)  Karmaonly
(3)  Both guna and karma 4y Lokaprasiddhi only

Match List - I with List - IT and choose the correct answer regarding KAyativada by using the
code given below :

List - I List -II
(a) Akhvati (1) Vijfianavada
(b) Atmakhyati (ii) Prabhakara Mimarisa
(¢) Anyathikhyati (1) Nydya
()  Anmirvacaniyakhyati (iv) Advaita vedinta

Code :

(a) (b) (c) (d)
() @) @ dib (v
(2) @ G @) Gv)
(3 O G @) Gv)
@ G Giy @ @Gv)

Match List - I with List - II and choose the correct answer regarding Pramapya by using code
below :

List - I List - II
(a) Buddhism (iy  Paratah Pramianya, apramanya
(b) Sankhya (1)  Swvatah Pramdanya, Paratalh apraménya
(c) Mimarmsa (i) Svatah Pramanya, Paratah apramanya
(d) Nyaya-VaiSesika (iv)  Svatah Pramagya, apramanya
Code :

(a) (b) (¢) (@)
(L ) QG @ Gv)
(2) () (v) (@) @)
(3) @) () Gv)y @
(4 @@ i) Gv) (i)

“Treating equals equally and unequals unequally’ is the view of :
(1) Socrates (2) Bentham (3) Anistotle 4y Mill
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Who among the tollowing has said that ‘ ‘Personality and property go together™* ?
(1) Kant (2) Hegel (3) Ross (4) Rawls

Who among the following has identified three types of Justice - Distributive, Retributive, Commutative ?
() Plato (2) Anstotle (3) Hobbes (4) Locke

‘Men are not hanged for stealing horse so that horse. may not be stolen by others’ can be
attributed to

(1) Retributive theory of punishment  (2) Reformative theory of punishment

(3) Theory of capital punishment (4) Deterrent theory of punishment

‘Either freedom of will is a fact or moral judgement a delusion’ is a statement of :
(1) Hobbes (2) Martinue (3) Kant (4) Hegel

Match List - T with List - IT and choose the correct answer with the help of the code given
below :

List- 1 List - II
(Thinking) (Statement)
(a)  Radical Feminism (i)  The struggle for women’s liberation is essentially bound
up with the struggle against capitalism.
(b)  Liberal Feminism (i1) Men and Women should be treated equal.
(¢)  Socialist Feminism (i) A Women is not born but made.
(d) Marxist Femninism (iv) Both Men and Women are essentially rational creatures.

Code :

(a) (b) (¢) (d)
() @) avy () @
(2) @ Gi) () (v)
(3 @ @ v i)
4) @(v) i) @ )

Which among the following is the distinctive feature of ethical judgements, according to
Stevenson ?

(1)  Statement of Command (2) Approval of the Consequence of an act

(3) Statement of Fact (4) Disagreement in Attitude

It has been pointed out that Mill’s arguments for Utifitarianism Suffer from the fallacy of :
(1) Hicit major (2)y  HHrcit Minor
(3)  {ndistributed Middie ferm (4) Fgure of Speech
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*The goodness of an action is determined by its consequence’ is the theory attribuied to

(1) Descriptive’ (2) Deontelogical (3) Prescriptive (4) Teleological
According to Kant, Moral Laws are :

(1)  Apriorr based on reason (2)  Apriori not based on reason

(3) Aposteriori not based on reason (4)  Aposteriori based on reason
Consider the Syllogism below and identify the fallacy involved in it.

All pets are domestic animals.

No lions are domestic animals,

Therefore, some lions are not pets.

Code :

(1) Fallacy of Exclusive terms (2)  Fallacy of Ilficit minor

(3)  Existential fallacy (4) Fallacy of undistributed middle

Which combination of fallacies occur if the rule **Any term distributed in the conclusion must be

distributed in the premises’” is not followed :

(1) Undistributed middle and Illicit major

(2)  Undistributed middle and tallacy of Exclusive premises
(3) Tlicit major and Niicit minor

(4) Fallacy of exclusive premises and IHlicit major

To obvert a proposition in an immediate inference :
(1) Only quality of the proposition is to.be changed
(2)  Only quantity of the proposition is to be changed.

(3)  Quality is to be changed and the predicate term is to be replaced with its complement.

(4) Quantity 15 to be changed and the predicate term 1$ to be replaced with s complement.

In the traditional square of opposition, if ‘O’ is true, then ;
(1) ‘A’istrue; ‘E’ is false; ‘T" is undetermined.

(2) ‘A’istrue; 'E’ and ‘T’ are undetermined.

(3) “A’isfalse; 'E’and ‘I’ are undetermined.

(4) A’ isfalse; 'E’ and ‘I’ are true.
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45. Match List - I (Figures) with List - IT (Mooeds) and choose the correct answer with the help of

46.

47.

48.

code given below :
List - [
(Figures)
(a) First figure
(b) Second figure
(¢) Third fipure
(d) Fourth tigure
Code :
(a) (b) (c)
(h Gy gy @)
(2) @) ® (i)
(3) @) (i) @Gv)
@ @ v W

In which one of the following cases an argument can be invalid 7

(d)
(1v)
(iv)
(1)

(iif)

(i)

(i)
(iii)
(1v)

List - 11

(Moods)
Fresison
Ferio
Festino

Ferison

(1)  Premises are True and Conclusion is True

(2)  Premises are True and Conclusion is False

(3) Premises are False and Conclusion is False

(4) Premises are False and Conclusion is True

Consider the following propositions and choose the correct answér :

*“All judges are lawyers™”,

*“‘Some judges are not lawyers’’.

Code :

(1) Both the statements are opposed in Quality only.
(2) Both the statements are opposed in Quantity only.
(3) The statements are opposed both in Quality and Quantity.

(4) The statements are opposed in Quality and not in Quantity.

If two propositions can both be true, but can not both be false together, their relation is:
2)

(1) Contrary

Contradictory (3)

Sub-Contrary Sub-altern
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(@) F9H AR (i)  Fresison
(b)y Fedla R (i) Ferio
(c) gig IFR (i) Festino
(dy =g¥ smFER (iv) Ferison
6

(a) (b) (c) (d)
(1) @Gy @iy @ Gv
2y @ O @) v
3y (i) Gy Gv) @)
4 @ v @

46. fafafaa i A frg A d o s S U €2
(1) STHR a9 o § iR Fresd @ 21
(2) SN A 9o § oI T oo ¥
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49.

52.

Which one of the following rules of inference is employed in the argument :

[N = (O-P)]*[Q > (OR)]
NvQ
= (O-P) v (O-R)
(1) Hypothetical Syllogism (2) Disjunctive Syllogism
(3) Constructive Dilemma {(4) Modus Ponens

Which one of the following forms represents “Modus Tollens’™ ?
(D p>q

~q

S~ P
2) pvg

~P

o
3) poyg

= po(p9)
@) p>9q

P

Consider the following statements in the light of Plato’s metaphysics and select the correct code -
(a) What is truly real is objects that we encounter in sensory experience.

(b)  Whatis truly real is forms that can only be grasped intellectually.

(¢) Forms are eternal and changing.

Code :

(1)  Only (a)is true

(2) Only (a) and () are true

(3) Only (b)is true

(4) Only (b) and (c¢) are true

Which one of the following opined that *‘Philosophy is based on precepts of reason; theology on
truths of revelation held on faith and philosophy serves as a handmaiden for theology.”’

(1) Augustine (2) Anselm (3) Aquinas (4)  Aristotle

prepp
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49.

frfafiaa o 8 omm & faea fam =1 wam foran T 22

IN 2 (O-P)]*[Q = (OR)]
NvQ
- (O-P) v (OR)
(1) EFReTIRaS = F () TaaeE = a=s
(3) TEARHSE SHAd: I19 (4) WY IR

. Trotafes TRl 8 § SH-91 ¥R e 2o 1 TR e 82

(1) p>gq
~q
R ¢

(2) pvyg
~p
e |

(3) p>oq
S po(pw

4) p>gq
P
—

. eI I qerdEE % o H Fefaten sl © faem o it w9 52 w1 wET

(a) WugY grafas 9 awgy B ¥ e wn g9 ergva & e %% )
(b) HeH rafas 3 SRR 2R § F9E Faw difgs 9 A g fmar s wwa 21
(c) STFR vew AN Ufiad-gia 2 21

&R
(1) o (a) T 21 (2)  FEA (a) AN () G T
3) T (b) WA B @) FaE (b) &t © T F

. Tr=fafaa # 9 fe o8 o o 7% ' xiaeea aehafig & SUSw OF; SyeREimien e W i 4
&Y Heaared 9 a2 ¥ SR i Svamar ¥ fav duw & w9 § e war !

(1) oFmreRa 2) THeH (3) ufyAmg @) g

Your Personal Exams Guide



www.prepp.in

53. Given below are Assertion (A) and Reason (R). Consider them in the light of Plato's Theory of

Forms and select the correct code.

Assertion (A) : Circularity does not exist in the physical world.

Reason (R) :  Circularity is not an example of form.
Code :

(1
(2)
(3)
()

Both (A) and (R) are true and (R) is the correct explanation of (A).
Both (A) and (R) are true. but (R) is not the correct explanation of (A).
(A) is true and (R) is false.

(R) is true and (A) is false,

Which one of the following statements appropriately represents the position of Nietzsche 7

(a) He equates the will 1o truth with the will to power.

(b) The distinction between good and evil is based on the will to power.
(¢). The distinction between good and evil is rooted in objectivity.

(d)  All life and all happiness are governed by the will to power.

Code :

(1) Only (a)and (b) are true.

(2)  Only (¢) and (d) are true

(3) Only (a), (b) and (d) are true

(4) Only (b) and (d) are true

Match List - I with List - I and mark the correct code :

List - I List - II

(a) Friedrich Nietzsche (1)  How to make our ideas clear
(b) William James (1)  The will to power
(¢c) C.8, Peirce (i) Logical Investigations
(d) Edmund Husserl (iv) The Meaning of Truth
Code :

(a) (b) (¢) (d)
() @ Gy Gy Gv)
(2) @ @O @) @v)
(3) @) Gv) () (i)
(4) @) @Gv) () @)
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53.
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Idealism is refuted by which of the following philosophers ? Select the correct code :

(a) Moore (b) Russell (¢ Berkeley

Code :

(1) Only (a) and (c) are true (2) Only (a)is true

(3)  Only (a)and (b) are true (4) Only (b) and (c) are true

Which one of the following Logical positivists replaced “Verification’ with “‘Confirmation’ on the
basis that although Universal laws cannot be verified, they can be confirmed ?

(1) Carnap (2) Avyer (3) Schlock (4) W.V.0.Quine

‘Reality which is Absolute is a Coherent thought system with logical connectivity” is the view that
can be ascribed to :

(1) Hegel (2) Berkeley (3) Moore (4) Spinoza

Which one of the following statements represents the philosophical position of Anaximander
correctly ?

(1) The ‘Limitless’ is the principle of the things that exist.
(2) Ttis from the principle of ‘Limitless air’ that everything that exists comes into being.
(3) “‘Limitless number’” is the principle of things that exist.

(4) ‘Limitless earth’ is the basic principle of everything that exists.

The theory of metempsychosis or the theory of transmigration of soul - is ascribed to which one of
the following Pre-socratic philosophers ?

(1) Pythagoras (2) Anaximander (3) Parmenides (4) Democritus

The purpose of Phenomenological reduction of Husserl is to :

(1) examine the meanings produced by pure impersonal consciousness.
(2) examine the meanings of objects of the world.

(3) examine meanings of objects of personal consciousness.

(4) teject the meanings produced by pure impersonal consciousness.
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62. Match List - I and List - II and choose the correct code :

List - I List - II
(a) Locke ()  An Enguiry Concerning Human Understanding
(b) Berkeley (1) Critique of Practical Reason
(¢) Hume (i) Three Dialogues between Hylas and Philonous
(d) Kant (ivy An Essay Concerning Human Understanding
Code :

(a) (b) (c) (d)
(h @ ) @ v
2y @ (v} () (i)
3 v ) @ @
(4 @) @v) Gy )

Given below are Assertion (A) and Reason (R). Consider them and select the correct code :

Assertion (A) : In the context of Descarte’s philosophy whatever is clear and distinct must

necessarily be true.
Reason (R) : Knowledge is constituted of clear and distinct ideas.
Code :
(1) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(2) (A) is true and (R) is false.
(3)  (A) is false and (R) is true and (R) is the correct explanation of (A).
(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

*“ Matter is the permanent possibility of sensation”’. This famous statement is from :
(1) James-Mill (2) John Stuart Mill (3) Locke (4) Hume

All the following propositions except one are compatible with Leibnitz’s Philosophy :

(1)  Monadsare infinitesimal Spiritual entities.
(2) Monads are windowless
(3) There is no hierarchy among the monads

4y  Mounads are indiscerntble
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66.

Descartes advocacy of Interactionism and Spinoza’s parallelism undermine :
(1) Monism and dualism (2)  Dualism and pluralism

(3) Dualism and naturalism (4)  Dualism and Pantheism

Mark the incompatible with Hume’s philosophy :

(1) There is no such thing as causal relation.

(2) The so called self is only an aggregate of mental states

(3) The world and its changes are because of God’s supremacy

(4)  All that can be known could be divided into ‘matters of fact” and " relations of ideas’

Match List - I and List - IT and choose the correct code

List - I List - 11
(a)  “Matter is something I know not what (i) Berkeley
(b) Matter as such does not exist (i) Locke

(¢) What we can know is only the phenomenon  (ili) Hegel
(d)  *The real is the rational’ (iv) Kant
Code :
(@) (b) () (d)
() @ b 3G (v)
(2) (W) @ vy (D)
3) (v Gi) () @)
@ Gv) () i) ®

Consider (a), (b), (¢) and (d) and then select the correct answer with reference to Descartes ;

(a) Truths of sciences can be doubted.

(b) Sense - testimony can be doubted.

(c) Nothing except the self can be doubted.

(d) Act of doubting cannot be doubted.

Code :

(1) (a)and (b) are only correct. (2) (a), (b) and (c) are only correct
(3) (&), (b) and () are only correct (4) (b), (c) and (d) are only correct
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Match List - I with List - IT and choose the correct answer with the help of code given below :

List - I List - II
(a) Berkeley (1) Interactionism
(b) Spinoza (1) Constant Conjunction
(¢) Descartes (iii) Parallelism
(d) Hume (iv) Subjective Idealism
Code :

(a) (b) (¢) (d)
(hH @® avy (o) (i)
(2) Gv) @iy () @G)
3 v @® ) @
@) (@(v) @iy ) @

Given below are an Assertion (A) and a Reason (R). Consider them and select the correct code

with reference to Locke :

Assertion (A) : According to Locke knowledge depends on the mental power to perceive or
apprehend ideas and not in the more receptivity of ideas.

Reason (R) :  Knowledge is rational for it consists in seeing the agreement or disagreement
between ideas.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).

(3) Both (A) and (R) are false.

(4) (A) is true and (R) is false.

Given below are Assertion (A) and Reason (R). Consider them and select the correct code :

Assertion (A) : Hume regards impressions to be the basic touch stone of knowiedge.

Reason (R) :  With the help of the law of association Hame shows that in causation there 1s no.
logical but psychological necessity.

Code :

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) gives the correct explanation of (A).

(3) Both (A) and R) are true and (R) does not give correct explanation of (A).

(4) (A) is true and (R) 1s false.
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Given below are Assertion (A) and Reason (R). Consider them and select the correct code with
reference to Berkeley :

Assertion (A) : Berkeley, instead of subjectifying things tries to objectify ideas. “'I am not for
changing things into ideas but rather ideas into things.”’

Reason (R) :  External things are caused by the Supreme Spirit or God who is external to any
finite spirits.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).

(3) Both (A) and (R) are false.

(4)  (A) is true and (R) is false.

Maich List - I with List - IT and choose the correct answer with the help of code given below :

List - I List - IT
(a) Pantheism (i) Kant
(b) Dualism (i) Spinoza
(c) Transcendental Illusion (iti) Descartes
(d) Pluralism (iv) Leibnitz

Code :

(a) (b) (¢) (d)
(H @ () (v (i)
(2) @ W @) G
(3) G i) G Gv)
4 () Gy @dv) @

Select the correct option.

The standard of Scientific Knowledge for Kant is

(1)  Syathetic aposteriors judgement  (2)  Analytic apriori judgement

(3)  Symthetic apriori judgement (4  Analytic aposteriorf judgement

Rta in Vedic tradition was identified with :

(1) Satyaonly (2) Dharmaonly (3) Karmmaonly(4)y Satyaand Dharma
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Select the correct sequence of the states of upanisadic self ;

(1) Susupti, svapna. Jagral, turiya (2) Jagrat, svapna, susupti, uriya
(3)  Jagrat, susupti. svapna, turiya (4) toriva, svapna, susupltl, Jagrat

By what sannikarsa do we perceive the relation between a flower and its red colour according to

the Nyava 7
(1)  Samyoga (2) Samavaya
(3) Visesapata (4) Samaveta Samaviya

Which among the following statements is not acceptable to the Carvaka 7
(1)  Consciousness 1s something produced

(2) Consciousness is not real

(3) Consciousness is produced by physical entities

(4) Consciousness must go with the body

What type of abhava of jidna is admitted by the vaisesikas in liberated self 7
(1) Pragabhava (2) Dhvamsabhava (3) Atyantabhava (4) Anyonyabhava

What is the cause of the knowledge of nearness and farness according to the vaisesikas ?
(1) Kala (2) Akasa 3) Dik 4) Manas

By which pramana does the Nyaya school prove a state of nirvikalpaka pratyaksa 7
(1) Pratyaksa (2) Anumana (3) Upamana (4) Sabda

Consider the following Assertion (A) and Reason (R) and select the corréct code from VaiSesika
Standpoint :

Assertion (A) : Paramapuis not divisible.

Reason (R) :  Whatever is not visible is not divisible.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3) (A)is true and (R) is false.

(4)  (A)is false and (R) is true.
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Which among the following is not a means of vydptigraha ?
(1) Tarka (2) Saminyvalaksana pratyaksa
(3) Aptavikya (&)  Upadhinirisa

Which type of hetvabhasa is commitied by the following anumana ? Select the correct code :
This animal must be a cow because il possesses horseness.

(1) Satpratipaksa (2) Savyabhicira (3) Viruddha (4) Badhita

Which one among the following is not a nityadravya according to the Vaisesikas ?
(1) Paramanu (2) Dvyapuka (3) Manas 4y Dik

Match List - T with List - IT and choose the correct answer from the code given below :

List - I List - II
(a) Savitarka (i) When the Cirtais concentrated on a subtler object of meditation like
the tanmatras.
(b) Savicara (1) When the Ciftais concentrated on a still subtier object of meditation
which produces Joy, like the senses.
(¢c) Sdnanda (i) When the Ciftais concentrated on a grass object of meditation,
(d)  Sasmuta (1v)  When the Cirtais concentrated on the ego substence with which the

self is generally identified.
Code : |
(a) (b) () (d)
() i) ) @) @v)
2y @ @Gy @) (v)
3 @ @ 3Gy @)
@ (@v) (i) () @

Given below are Assertion (A) and Reason (R). Consider them and select the correct code
given below, in the context of Buddhism :

Assertion (A) : Nirvapacannot be sufferingless.

Reason (R) :  Sarvam Dubkbany Dubkham.

Code :

(D (A) and (R) both are true and (R) is the correct explanation of (A).

(2) (A) and (R) both are true and (R) is not the correct explanation of (A).
(3) (A) is true and (R) is false

(4) (A)is false and (R) is true
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ffafaa § @ 9 afayzs 1 & AT w8 ?
(1) @& (2)  QIHI=IEIET Geaer
(3) HTITH 4) SR

. Trafaten s g g v =1 garyry (e i 87 W@ 2 & 99 L

7€ W 1894 €9 9 T T BA1 Ay, Fiifh 59 =ed ¢l

(1) Gagiave ) FHFER 3) Foeg @) FrEa
Fforepi F ITaR Frefafas § € $9 & s 6§72
(1) THYg 2) BITF (3) F7E 4) g
. G- 1 e - S e gAY oiv i e e e @ ud see m wa w
et - 1 ot - 11
(a) GiFTE 0] wﬁﬁw%ﬁq&nmm%ﬁaé%ﬁm|
(by TfFER (i) ¥ fomed ot eam % gen fawa R HfEa 3 o g@ 30 = 59
Bl
() g (i) & fo7 @ % TE avd W) siEa @)
dy T (iv) T o 318 W Hhga 2 Foas Wy W] 1o T IR B 21

(a) (b) {(c) (d)
(1) @) @ aG) av)
2y @ G) G Gv
3y Gy ) aGv) Gi)
4y @v) @iy () @®

. AR (A) ¥R ®ROT (R) fEu e ¥ 37 W faem # oiv dig ae % ey § 9 fRu e e

H A T FT T B

Afuwem (A) . Fafrg-wfea @ § gl

@O (R) : Taq §:GH 5@

&R |

(1) (A) 3R (R) T T § i) (R), (A) =t W& = 95ga 3 €
(2) (A) 3R (R) T T T 3R (R), (A) Ft T =&A Te Twqq FH § |
(3)  (A) Td ¥ sl (R) Tera T

@) (A) TeE ST R) T ¥
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Given below are Assertion (A) and Reason (R). Consider them and select the correct code
given below, in the context of Buddhism :

Assertion (A) : There is suffering in the world.

Reason (R) : It is not created by us.

Code :

(1) (A) and (R) both are true and (R) is the correct explanation of (A).

(2) (A) and (R) both are true and (R) is not the correct explanation of (A).
(3) (A) is false and (R} is true.

(4) (A) is true and (R) is false.

All the following propositions except one are compatible with Prabhakara school of Porva -
mimamsa '

(1) Knowledge consists of friputs

(2)  Advocacy of Anvitabhidhanavada

(3)  Advocacy of Anupalabdhi as an independent pramana

(4) Perceptual error is an act of omission

Given below are Assertion (A) and Reason (R). Consider them and select the correct code :

Assertion (A) : In the view of Madhva, Brahman the mahivastir 1s ananta-kalyana-gona-
paripirna.

Reason (R) :  Even an ordinary thing Sadhdgrapa Vastu Cannot be without gunas.
Code :

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(2) (A) is true and (R) is false but (R) is not the correct explanation of (A).

(3) (A)is true and (R) is false, but (R) is the correct explanation of (A).

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

Mark the incompatible in view of Visistadvaita Vedinta -

(1) The Means to Moksa is jidna-karma-Samuchhaya

(2) Jivarmais one with Brahman

(3)  Satkhyati satisfactorily explains the perceptual error.

(4) Saptavidha anupapattis are aimed at the refutation of Maya.
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89. ¥ ifuerad (A) 3R @ROT (R) Tew e €)1 37 W foram & &R &g wa & el & Y few e e
H A T BT T W

afiwe (A) : sFad == )

W®/IUT (R) : 2O 3Tl gHR g1 9 & TR 7

C &R

(1) (A) 3R (R) 3T w2t ¥ 3iR (R), (A) U@ =I7en TR FT 31

(2) (A) 3 (R) M G2 Z 3R (R), (A) T Gt =aren Tgd T8l B ¢
(3) (A) 7ITE & iR (R) & ¥

(4) (A) W& T 3R R) T B

90. TF % faam ffafan § § 9t 9% 9 7@-9aar o TR IR § U € 7
(1) T AgFEaTNE
(2) SrfgafarTarg & fenrd
(3) TS @as FHTH €9 H Fguciiey sl fenmad
(4) % F fF F w9 F qgaeE Terd

91. T Afueme (4) 3R wIoT (R) fau 78 €1 37 W =R L a9 w8 F2 w w1 =W
AR (A) 1 T F T o, N TEEg R, oa- o o-IRYuT R |
WHIT (R) : e o for W FryRer aeg ot o S e w2 et
C T3
(1) (&) 3R ®) <F 8 T A R), (A) B T A0 T T @
(2) (A) TE & 3R (R) Tera § @fst (R), (A) = udt samen 78 w&ga & §
(3) (A) T8 T 3R (R) 7o § ofF (R), (A) 1 U2 =rel Wegd <l 2|
@) (A) 3R (R) IAT FE B 3R (R), (A) I Hel =A@ TR 4 & |

92. fafirera derqd ¥ gfie § oo = forfm = :
(1) B & W FH-FH-Gg=T &/
(2) ST o % WY TR ¥
(3) G Feaeraa el i Garsid aleh W SHRedl 3l § )
(4) Gy Il &1 A Tl WeT L ¥
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Match List - I and List - II and choose the correct code :

List - I List - II
(a) Samkara G)  Nityavibhiti
() Ramanuja ) Visesa
(¢) Madhva () Pustimirea
(d) Vallabha (v) Adhyasa
Code :

() (b) (c) (d)
(h @G 3dv)y (i) (@)
(2) (i) G) @ Gv)
3 ) @ ) @
4) @) @G @Gv) @6

Anupalabdhi s an independent pramapa according to ;
(1) Ramanuja (2) Madhva (3) Kumarila

Which one of the following is not acceptable to Jain Philosophy 7
(1) Realistic and relativistic pluralism.

(2)  “Dravyd and ‘Gupa are inseparable.

(3) We can know an object in all its aspects.

(4) Keval-Jiianais unlimited and absolute knowledge.

Ambedkar’s theory of relation is essentially :

prepp

ersonal Exams Guide

(4) Prabhakara

(1) Spiritual (2) Metaphysical (3) Naturalistic (4) Hermeneutical
Which among the following is true regarding K.C. Bhattacharya’s two branches of Philosophy of
obiject ?

(1)  Ethics and Logic (2) Religion and Ethics

(3) Logic and Metaphysics (4) Physics and Metaphysics
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T - 1 &1 G - 1 & a1y gafed Y 3l 98l e o1 99 Y

Tt - 1 et - 11
(a) VT Q) gl
(b) TS (i) foow
(c) == (i) gfesrf
(d) TTIY (v) ey
He

(a) (b) (c) (d)
() @ Gv G o
2y Gy @ @ Gv)
3y Gvy O G (i)
@ ) @i @ @

T SR ST{Tci U dd JHI S ?
(1) T @ @A () FRE
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(3) BH UH o H 39F Wl el § 9w ¥
@)  Faer-gr srEitEE i frler 9 ¥

iR T T H-Taga s ©
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98. Given below are the four principles of Existence.
(a) The Super - Cosmic theory
(b) The Cosmic or the Terrestrial
(¢) The Supraterrestrial or the other worldly
(d) The integral or the synthetic
Which one of the following philosopher has mentioned in his philosophy ?
(1) Vivekanand (2) K.C.Bhattacharya
(3) Igbal (4) Sri Aurobindo

99. Gandhian View of trusieeship was not designed 1o :
(1) evolve a new social order
(2) promote fove and sacrifice among people
(3) give every oppoitunity to an individual to rise

(4) apply force to deprive the priviledged class of their wealth

100. Which one of the following pair is correctly matched ?

(Thinkers) (Works)
(1)  Sri Aurobindo - The Human cycle, Freedom's battle
(2) Tagore - Lover’s gift and crossing, My Soul’s Agony
(3) Gandhi - The wheel of fortune, Delhi Diary
(4) Radhakrishnan - Religion and Society, Massege From the East
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98. i sife & 9r fagia feu e §)
(a) W-Wmfﬂ
(b) SEUSYAS TN FEANFF
(¢c) UElfPp®H
(d) 9O SRTERE M WL
frefafa o 4 feg arife 3 o1 gvih 4 soom frar €2
(1) forerbrg (2) &N veeHR
(3) TR 4) o efe

99. Y = <9 GsHl 7a THes g W s m ar?
(1) TUH T TAN SHGET 991 F o)
(2) @I % S W9 T W@ Wl §eeT o & fag
(3) T A T W 387 & 0 T IFHR F a8 &1 & fag
(4) e a1 6 3T 9R Y afEE w9 % Oy IF # vEe =E F fan )

100. Frafafga § 4 F-w g wdt gafaa g2

(o ) (i)
(1) ot erfeig - T g TR, FieH dgec
(2) R - v firge TU FiGT, A gl T
(3) s - & = 9w By, e srR
(4) T - Refio goz wiardt w6 B T §e
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